GREENSPOKE

BIKE PARKING SOLUTIONS

1-844-888-9999
www.gogreenspoke.com

Horizontal Rail
Weldment

Weldnut, 3/8-16

Post

B.H. Security Bolt
3/8-16 x 2" Long

AN Horizontal Rail
Weldment
- Weldnut, 3/8-16
B Hook Bracket
Flat Washer, 3/8" |.D.
\ Lock Washer, 3/8" 1.D.
B.H. Security Bolt

3/8-16 x 3" Long

=

/ Lock Washer, 3/8" I.D.

T Flat Washer, 3/8" I.D.

_ . —— FlatWasher, 1/2" 1.D.

= \
Nyloc Nut, 1/2-13

Compact Vertical Rack System

Typical Assembly Method
Model Shown: CVR-S
Single Sided Floor Mount

)3 4-Bike Unit
b _ = Rev.: 13Nov15
~ <
e e
i\ \\\\
NS A
. 2

Hook Brackets

\ (With Weldnuts)
<%@ Post
% l Base Channel
Assembly Order:

Post
1) Attach Posts to Base Channels as shown.

2) Attach Horizontal Rail Weldment to Posts as shown.
3) Attach Hook Brackets to Horizontal Rails as shown.
(Hook Bracket Heights: 1st High, 2nd Low, 3rd High, 4th Low)

For Double Sided Units:
4) Attach Hook Brackets WITHOUT Weldnuts on
Opposite Side of Hook Brackets WITH Weldnuts.

Carriage Bolt
1/2-13 x 1.25" Long

Base Channel



